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BOWEN UNIVERSITY, IWO

COLLEGE OF MANAGEMENT AND SOCIAL SCIENCES

" . " ECONOMICS PROGRAMME

2020/2021 B.Sc. SECOND SEMESTER EXAMINATION
COURSE TITLE: Mathematical Techniques for Economists II

COURSE CODE: ECN 204

TIME ALLOWED: 21 HOURS CREDIT: 3units

DATE: August, 2021
INSTRUCTIONS: Answer questions one and any other three questions.
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I Transpose of a rectangular matrix is a
(a) Rectangular matrix

(b) Diagonal matrix i
(c) Square matrix 5
~ (d) Scalar matrix By
Ans: rectangular matrix . ¥
2. In matrix, columns are denoted by o ‘Ef
a) A ;:é',
b) B 3.
bl B) <R 2
d) C i
- Ans:D i}
3. Two matrices A and B are multiplied to get AB if ":'
a) Both are rectangular =
b) Both have same order R
= ¢) No columns of A is equal to column of B Y
d) No of rows of A is equal to no of column of B 53
Ans: No columns of A 1S equal to column of B 3
: 4. Transpose of a row matrix 1S - P"
| a) - Zero matrix > 23
- b) Diagonal matrix =
© ¢) Column matrix vh
d) Row matrix = %
~ Ans: Column matrix C e
5. If A and B are matrices, then which from the following is true? ‘?{-3
. b) (ADt£A g
c): ' A+B#B+A E‘.
d) all are true ;’-!
Ans: AB#BA i
6. Two matrices A and B ave added if A
a) both are rectangular X
b) both have same order %.
¢) no of columns of A is equal to columns of B {
38
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"Il d) noofrowsof A is equal to no of columns of B

"‘ : ! L

HEE K 4 Ans: both have same order
¥R A square or a rectangular array of numbers written within square brackets in a definite

order in rows and columns is known as
~a) Determine "
. ~b) Formula
g ;‘., ¢c) Matrix

™" d), Equation

g Ans: Matrix
81 IfA'is a symmetric matrix, then A'=

|

it'“

a) 0
i b) A .
™ %W C) IAl
T ", d). diagonal matnx
BE Ans: B
94 A square matrix in which all elements except at least one element in diagonal are zeros is
; 1sald to be a

v+ a) Identical matrix
" . b) Null/zero matrix
c): Column matrix
. d) Diagonal matrix

| Ans: Diagonal matrix

]0 If the order of matrix Alsm X p. And the order of B is p X n. Then the order of matrix
"o 1AB 1827 ~

1y h.v a) nxp &
" b) mxn

; ..c) mxp
g d) nxm. =i
! Ans:mxn |
I usmg d(xn) nx™, ‘1 select an anti-derivative of x°

|
11

b

i

v a) Vx +C '
Yie 3
b) MoyTzdC *
‘16 1.‘ 1 ,
C)’ ...-Z'XZ + C
c y. : v
Qi gl
LT N Ans: A '
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13 Dse this property to find the general anti-derivative of 3% — 23
' a) C

14.1fY = [3X dx and at x = 2,it is measured that y =

. 4,calculate the integration constant.
a) C=2

- ) C=4

c) C=-2
d) C=10
Ans: C '
15 Given m(u) s + 3x find the TC

. a) "'X +C |
b) —-+-3i2+c
37 - C) ie“"+c
7 Ans: b

© 16.Given [,° (fx)dx

What is a and b are called?
a) The constants |
- b) “The lmits
- ¢) The variables
- d) Discrete terms

Ans: B .
17. The equation in gtn (16) above is called a.............. ?

~a) Definite integral
- b) Indefinite integral .
. ¢) Definite differential
d) Indefinite differential
Vi ADSEA g
18. The first order, first degree differential equation y’ = f (X, y) 1s said to be
~ homogeneous, if
a) f(x,y)isahomdgeneous function of degree zero.
b) f(x,y)1sahomogeneous function of second degree

LT

. . ©) f(x,y)1sahomogeneous function of first degree

«* d) f(x,y)1sahomogeneous function of third degree
he s n- Ans: C
19. All'but one 1s not a role of Linear algebra (Matrix)

. a) Permuts expression of a comnplicated system of equations in a succinct, simplified
| way, |
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| ib) Provides a shorthand method to determine whether a solution exists before 1t 1s
' attempted
Al c) Furnishes the means of solving the equation system
) d) Checks for causality
Wi :’ Ans: D o {

20. Yi=by..1 + a, is an example of?
ta) Differential equation
b) Quadratic equation
w . ¢) Simultaneous equation
or b | d) Difference equation
‘hy | " Ans: D | i
21. All'but one of the following is not an Economic application of first order difference
| iequation.
«' 1.a) The Domar consumption model
wi tj) When compounding annually
Harrod growth model
) ,The cobweb model
1 k Ans: A HASOA
2 (Given two equatlons Ct— 300+ 0.5Y,+ 0.4Y. and Yi+3-9Y1+2+6Y(=8 what s
' 'the order of these equatlons respect1ve1v°

| a) 3,8 ‘ ! B
: ’,c) 1, 1 FRERIE
d) 1,3 Ry
'i ‘ "23 ﬂle differential equatlon of the type x™ -n— + alx™? Z;_’l' + -
i .. ! xis éither a constant or a function of x only, 1S
i
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| »a) . linear but not homogenous ‘
; b) homogeneous but not linear

v—‘

@ I

¢) both homogeneous and linear =

. d) netther llnear not homogeneous
7 i3 e ADS C e .
24 solve f (4 + 1) dx |
a) 46 iller s 2 |
i b) 28 ks , {
- ] "" C) 35 ' |
; & ; 5 " é) 72 HE i) ; |
: Pl g Ans C. . f _ '
2 marks :
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If dy/dx (2-x) (~4 3x) whatisy? ;
'a) 2XFXEHC ] gy f |
l b) 8x-5x*+c | {
.8 8x - 5x7+x3+c I ‘ | :
Lo d) x=5xM+x3+¢ L
; . "Ans: C - : | 2 Marks
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e ' a’y . & _ gy = x is given by

y 4'26 the general solution to the dlfferentlal equation =5 T 4«

©a) y=c1e¥+ e
? b) y= c;e'3"+ c2e
c) y=cie¥*+ce™

B I ™ L

You ! '~.' d) y i C]e2x +.e-3x
‘, «'" Ans:borc , 3 marks
298 I} SECTION 2:
' T 2 X S0
‘1.‘.;f}te3"dx % y
T HEE B L, | 2 4
1 a ,.ge3" +C
: )
. 2
1 b) e3*" +C :
o 1:€) 6log3x+C i
w 3 il) 2e3* .4 C G |
o1l AnsLA i | BN
- i 2 Marks

. A manufacturer determines that the firm’s MC = 200 + 0.4y, find the change in cost

§ that results when the sales level is increased from 10 to 50 units.
)52 a) 2 7,560 ¥ atr
w b) 7,520 "
e CJ° 8,240 -4
.d) 6,240 . ‘
Ans:B - » ' - | 4 marks
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A manufacturer determmes that the firm’s MR = 200 + 0.2y, find the change in
r(?venue that results when the sales level is increased from 10 to 50 units.

S il & a) 8,060 s
' i i "b) 7,560 ’ :
; i ¢) 8,240
i s i d) 8,000 5
40 00 O Ans: . '
™R RS, :C , 4 marks
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